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QUESTION 1

Which two statements describe the contact between an Enterprise JavaBeans (EJB) container and the EJBs that it
hosts?

A. The container provides automatic logging of all exceptions and errors generated by EJB code.
B. The container provides a transparent scaling mechanism to handle spikes in demand.

C. An EJB can extend its services, such as security, to improve performance.

D. The container has a well defined lifecycle model for each EJB type.

Correct Answer: BD

QUESTION 2

A manufacturing company has a large investment in a legacy Inventory Management System (IMS) developed with third-
party technologies. You have been asked to design a Java EE application that interacts with it.

You would like to ensure the following:

Minimal application code is required to parse the communication messages.
Communication is asynchronous and stateless.

Performance import of the existing system is minimal.
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Which two technologies combined would meet these requirements?
A. XML

B. JSON

C. RMI

D. JAX-RS

E. JAX-WS

Correct Answer: BD

QUESTION 3

A company must honor a service-level agreement (SLA) for its application, which states all database requests must
execute within three seconds.
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Users complain that some requests take longer than five seconds to complete. You have been contracted to fix the
problem.

Which course of action do you recommend?

A. Modify the program to implement multi threading and an event-driven design.

B. Add servers to distribute the load.

C. Upgrade the application server and the operating system.

D. Define a plan for isolating the bottleneck, and define indicators that will measure performance under a test load.

Correct Answer: D

QUESTION 4
Which two statements are true about the timer service of a business component container?
A. Timed notifications for all types of session beans can be scheduled by using this service.

B. When the server is shut down, the timer is persisted automatically and becomes active again when the server is
restarted.

C. Each instance of message driven beans has unique timers.

D. When stateful session bean instance is removed, the container detaches the timers associated with the instance and
allocates them to the new instance.

E. When a transaction is rolled hark, the timer creation within the transaction is also rolled back.

Correct Answer: BE

QUESTION 5

Blue Berry Corporation, one of the biggest fruit traders in Canada, has the biggest competitor, Red Cherry

100% Real QandAs | 100% Real Pass Corporation. Blue Berry uses a web application that is developed by using java
technologies, whereas Red Cherry\\'s web application uses non-Java technologies. Blue Berry plans to share business
sensitive, transactional data between the two systems by integrating them in a loosely coupled manner.

Which technology should be used to this?

A. IMS

B. JCA

C. XML over HTTPS

D. RMI over [IOP

E. JBI
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Correct Answer: CE
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